
Nom: 　　　　　　　 Date: 　　　　　　 Note: 　　　

Arithmétique des exposants ( exposants négatifs )

(−8) − 3 =(−2) (−8) − (−2) =(−1)

9 − 4 =2 7 − (−1) =(−2)

(−9) − 9 =2 2 − 10 =2

(−3) − (−6) =(−2) (−5) − (−6) =

(−10) + (−2) =(−2) 3 − (−4) =(−2)

(−8) − (−3) =(−2) 10 − 7 =

(−8) + 1 =(−2) 6 − 5 =(−1)

(−10) − 1 =(−1) 1 − (−3) =2

(−2) − (−6) =2 (−1) − 5 =2

9 − 6 =(−2) 3 + 4 =(−1)
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Nom: 　　　　　　　 Date: 　　　　　　 Note: 　　　

Arithmétique des exposants ( exposants négatifs )

(−8) − 3 = (− ) = (−2 )(−2)

64
191

64
63

(−8) − (−2) = = 1(−1)

8
15

8
7

9 − 4 = 772 7 − (−1) = = 1(−2)

49
50

49
1

(−9) − 9 = 722 2 − 10 = (−6)2

(−3) − (−6) = = 6(−2)

9
55

9
1

(−5) − (−6) = 1

(−10) + (−2) = (− ) = (−1 )(−2)

100
199

100
99

3 − (−4) = = 4(−2)

9
37

9
1

(−8) − (−3) = = 3(−2)

64
193

64
1

10 − 7 = 3

(−8) + 1 = = 1(−2)

64
65

64
1

6 − 5 = (− ) = (−4 )(−1)

6
29

6
5

(−10) − 1 = (− ) = (−1 )(−1)

10
11

10
1

1 − (−3) = 42

(−2) − (−6) = 102 (−1) − 5 = (−4)2

9 − 6 = (− ) = (−5 )(−2)

81
485

81
80

3 + 4 = = 4(−1)

3
13

3
1
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